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series{

file="RRIT7 A INLER"

start=2000. 1

span=(2000. 1, 2024. 12)

period=12

}
transform{ function=log }  #EEfE % *HEIC A

regression|{
variables = ( #hliRE 2R

HAROREA 72 & O —PF—Z5D” UserType” 1%, ” holiday” & LT\ 5,
}
arima{
mode | = #hllinE SR
}
estimate{
}
forecast {
maxBack=0
maxLead=0 WEEMZEO DD, T 740 D12 508 LT D,
}
outlier{
span=(2023. 1, 2024.12) #AM B O B Bk
# (AR SN2 UifIL” regression” (2Rl L7z,)

}

x11{
sigmaLim=(1.5 3) HZEREESD L=, BHEBRAO TFRMEEZ1.5L LTWD,
ttseasonalMa=x11default HEECEHOEHIL, T 74V FOABIE LTWD,
appendFcst=yes
save=(d10 d11 d16)
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) X EhiCEH, Y #cEE L 5, EEIZ0 7H 1 FTTHD, 0.5 ICRDHEL [HEE] L4545, F
To. T 7OMEEERETHERE R L95, nPR7 4 v iid TS & R
TRE LTz, v = exp((x ~FUEE) X455 / (I+exp((x ~£EUEFE) X1540))



